Use of English

Version: 2014A

Text Sheet

Blinding flash (from: New Scientist)

Four years ago disaster struck the Earth on a …… (1) of light. On its 12-billion-year journey from a …… (2) quasar, the light …… (3) interstellar clouds of metals such as iron, nickel and chromium. When astronomer John Webb and his …… (4) at the University of New South Wales in Sydney analysed the light, they found these atoms had absorbed …… (5) of its photons. But, …… (6) to the known …… (7) of physics, they had absorbed the wrong ones. Something was missing.

This single observation …… (8) our most beloved theories of how the Universe works, according to physicists Thomas Banks and Michael Douglas of Rutgers University, New Jersey, and Michael Dine of the University of Santa Cruz. …… (9) the astronomers really saw what they thought they saw, then our best explanation …… (10) how matter and forces interact—the standard model—is proved woefully inadequate. M-theory, the most successful version …… (11) the idea that all matter is made up of vibrating strings, can't cope with the observation …… (12). Banks, Dine and Douglas make this claim in a paper to be published in a forthcoming issue of Physical Review Letters. And they don't make it lightly, since all three …… (13) in developing M-theory.

The implications of Webb's data are huge. Incorporating the astronomers' …… (14) into M-theory or the standard model …… (15) changing the theories so much they no longer explain accepted concepts such as inflation, …… (16) describes how the Universe expanded rapidly after the big bang. It would mean twisting theories so far that the long-hunted Higgs particle should …… (17) have turned up in our particle accelerators. In other words, with our current …… (18) of the Universe, it can't be done.

How can a flash of light wreak such havoc? …… (19) it suggests that one of the pillars of modern physics—the fine structure constant, or alpha—is not constant at all. Alpha is a "coupling constant": it dictates how photons interact with particles such as electrons, describing, for instance, which photons will be …… (20) the electrons in a cloud of metal atoms. 
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Name: 







Date:

Subject Combination:

Instructions:

For each question, choose the best answer: A, B, C or D. You must make one choice only for each number.

Mark your answers on the answer sheet. You must mark the answer you have chosen with a cross (X), as in the example.

	Example:
	A
	B
	C
	D


	1. 
	A bar
	B beam
	C bunch 
	D bulb

	2. 
	A distant
	B far
	C away
	D located

	3. 
	A have been passing through
	B had been passing through
	C had passed through
	D passed through 



	4. 
	A team
	B buddies 
	C crew
	D band

	5. 
	A any 
	B every
	C plenty
	D some

	6. 
	A considering
	B according
	C regarding
	D respecting 

	7. 
	A instructions
	B laws
	C guidelines
	D proofs

	8. 
	A is ripping apart 
	B ripped apart
	C had ripped apart
	D rips apart

	9. 
	A When
	B While
	C If 
	D As

	10. 
	A of
	B to
	C for 
	D at 

	11. 
	A for
	B of 
	C to
	D with

	12. 
	A never
	B ever 
	C neither
	D either

	13. 
	A have involved 
	B have been involved
	C had been involved
	D involved

	14. 
	A finding
	B founding
	C proving 
	D assuming

	15. 
	A must mean
	B must not mean
	C would not mean
	D would mean

	16. 
	A which
	B who
	C whose
	D what 

	17. 
	A already
	B soon
	C later
	D sooner

	18. 
	A neglecting
	B neglect
	C understanding
	D support

	19. 
	A While
	B As
	C Although
	D Because 

	20. 
	A absorbed from
	B absorbed by
	C absorbed for
	D absorbed with


Final number of points:
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Blinding flash (from: New Scientist)

Four years ago disaster struck the Earth on a beam of light. On its 12-billion-year journey from a distant quasar, the light had passed through interstellar clouds of metals such as iron, nickel and chromium. When astronomer John Webb and his team at the University of New South Wales in Sydney analysed the light, they found these atoms had absorbed some of its photons. But, according to the known laws of physics, they had absorbed the wrong ones. Something was missing.

This single observation rips apart our most beloved theories of how the Universe works, according to physicists Thomas Banks and Michael Douglas of Rutgers University, New Jersey, and Michael Dine of the University of Santa Cruz. If the astronomers really saw what they thought they saw, then our best explanation for how matter and forces interact—the standard model—is proved woefully inadequate. M-theory, the most successful version of the idea that all matter is made up of vibrating strings, can't cope with the observation either. Banks, Dine and Douglas make this claim in a paper to be published in a forthcoming issue of Physical Review Letters. And they don't make it lightly, since all three have been involved in developing M-theory.

The implications of Webb's data are huge. Incorporating the astronomers' finding into M-theory or the standard model would mean changing the theories so much they no longer explain accepted concepts such as inflation, which describes how the Universe expanded rapidly after the big bang. It would mean twisting theories so far that the long-hunted Higgs particle should already have turned up in our particle accelerators. In other words, with our current understanding of the Universe, it can't be done.

How can a flash of light wreak such havoc? Because it suggests that one of the pillars of modern physics—the fine structure constant, or alpha—is not constant at all. Alpha is a "coupling constant": it dictates how photons interact with particles such as electrons, describing, for instance, which photons will be absorbed by the electrons in a cloud of metal atoms. 
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Date:

Subject Combination:

Instructions:

For each question, choose the best answer: A, B, C or D. You must make one choice only for each number.

Mark your answers on the answer sheet. You must mark the answer you have chosen with a cross (X), as in the example.

	Example:
	A
	B
	C
	D


	1. 
	A bar
	B beam
	C bunch 

	D bulb

	2. 
	A distant
	B far
	C away
	D located

	3. 
	A have been passing through
	B had been passing through
	C had passed through
	D passed through 


	4. 
	A team
	B buddies 
	C crew
	D band

	5. 
	A any 
	B every
	C plenty
	D some

	6. 
	A considering
	B according
	C regarding
	D respecting 

	7. 
	A instructions
	B laws
	C guidelines
	D proofs

	8. 
	A is ripping apart 
	B ripped apart
	C had ripped apart
	D rips apart

	9. 
	A When
	B While
	C If 
	D As

	10. 
	A of
	B to
	C for 
	D at 

	11. 
	A for
	B of 
	C to
	D with

	12. 
	A never
	B ever 
	C neither
	D either

	13. 
	A have involved 
	B have been involved
	C had been involved
	D involved

	14. 
	A finding
	B founding
	C proving 
	D assuming

	15. 
	A must mean
	B must not mean
	C would not mean
	D would mean

	16. 
	A which
	B who
	C whose
	D what 

	17. 
	A already
	B soon
	C later
	D sooner

	18. 
	A neglecting
	B neglect
	C understanding
	D support

	19. 
	A While
	B As
	C Although
	D Because 

	20. 
	A absorbed from
	B absorbed by
	C absorbed for
	D absorbed with


Final number of points:
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The New Jim Crow is a stunning account of the rebirth of a caste-like system in the United States, one that has resulted in millions of African Americans locked behind bars and then relegated to a permanent second-class status—denied the very rights supposedly won in the Civil Rights Movement. Since its publication in 2010, the book has appeared on the New York Times bestseller list for more than a year; been dubbed the “secular bible of a new social movement” by numerous commentators, including Cornel West; and has led to consciousness-raising efforts in universities, churches, community centers, re-entry centers, and prisons nationwide. The New Jim Crow tells a truth our nation has been reluctant to face.

As the United States celebrates its “triumph over race” with the election of Barack Obama, the majority of black men in major urban areas are under correctional control or saddled with criminal records for life. Jim Crow laws were wiped off the books decades ago, but today an extraordinary percentage of the African American community is warehoused in prisons or trapped in a parallel social universe, denied basic civil and human rights—including the right to vote; the right to serve on juries; and the right to be free of legal discrimination in employment, housing, access to education and public benefits. Today, it is no longer socially permissible to use race explicitly as a justification for discrimination, exclusion, and social contempt. Yet as civil-rights-lawyer-turned-legal-scholar Michelle Alexander demonstrates, it is perfectly legal to discriminate against convicted criminals in nearly all the ways in which it was once legal to discriminate against African Americans. Once labeled a felon, even for a minor drug crime, the old forms of discrimination are suddenly legal again. In her words, “we have not ended racial caste in America; we have merely redesigned it.”

Alexander shows that, by targeting black men through the War on Drugs and decimating communities of color, the U.S. criminal justice system functions as a contemporary system of racial control, even as it formally adheres to the principle of colorblindness.
The New Jim Crow challenges the civil rights community—and all of us—to place mass incarceration at the forefront of a new movement for racial justice in America.
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1. The New Jim Crow...

A is a bible 




B is a law



C is a book about race issues in the US 
D is an article in the New York Times 

2. According to the article, 

A prisons are big business in America




B prisons are full of black people

C whites get better treatment than blacks in prisons 


D. Cornel West also ended up in prison 

3. Michelle Alexander is

A a judge



B a barrister




C probably teaches and examines law


D was convicted of legal discrimination

4. According to the article, after leaving an American prison

A you cannot drink



B you face much legal discrimination

C you usually start taking drugs



D you are not allowed to drive a car 

5. According to the article, “colorblindness” could be described as

A an eye-disease




B an unsuccessful way to avoid race discrimination


C affirmative action



D positive discrimination

6. According to the article, the US public

A is democratic and that is what makes America great






B is indifferent to the issue

C should become familiar with Michelle Alexander’s work and stop turning a blind eye to the problem

D should be more obedient to authorities

7. The author of the text probably

A is supportive of the work


B thinks the work has gone a bit too far
C believes positive discrimination is good
D claims drug crimes should be more punished

8. According to the article, the discrimination described

A is, unfortunately, legal


B is illegal



C is permissible

D is as old as the world 

9. “incarceration” means

A imprisonment



B a disease



C too much of too little



D another term for cancer


10. According to the article, the election of Barack Obama

A has changed the situation of blacks in America greatly


B means things are going the right way 

C has proven that incarceration is a public benefit


D does not mean that there has been a triumph in race matters in the US
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1) Science has changed the Western world to become

a) a place of confusion and unhappiness

b) a happier and a more comfortable place

c) a place of sorrow and depression

d) a quiet and a peaceful place

2) The lecture says that a scientist´s mind and thinking is
a) always well sorted and sharp

b) clear and logical

c) not always in completely consistent schemes

d) very ordinary 

3) Time in his laboratory a scientist spends

a) thinking about scientific laws

b) being very sure about the observations and natural laws

c) inventing new apparatus for measuring things and earning a good money for it
d) continually observing, but his work is a feeling out into the dark 

4) When pressed to say what he is doing, a scientist

a) may present a picture of complete certainty

b) may present a picture of uncertainty or doubt, even of actual confusion 

c) may present a picture of scientific activities focused at one exact subject

d) may present a picture of statistically well sorted data

5) 1642 is the date of Newton´s

a) birth

b) death

c) graduation

d) biggest scientific achievement

6) Newton’s famous remark, ‘hypotheses non fingo’ - ‘I do not make hypotheses’. meant that

a) he only derived theories from the scientific literature

b) he only derived laws from observations of nature

c) he only derived laws from chemical experiments

d) he only derived laws from observations of sociological processes

7) Newton developed a theory that: matter is made of atoms and
 a) he could not prove it

b) he proved it very well but nobody accepted it

c) he was able to prove it but he died before he actually did

d) he proved it and was highly praised for it 

8) Surprisingly Newton puzzled over much more curious matters. He spent a great deal of time studying

a) the masterpieces of painters, sculptors and architects

b) the writings of Chinese doctors and herb specialists

c) the writings of mystics, theologians and alchemists

d) the writings of medical specialists, chemists and homeopaths

9) The lecturer claims that Newton was not so much one of the first men of the age of reason as the last of

a) the mystical scientists

b) the magicians
c) the science architects

d) the fathers of science

10) The search for answers was a continual struggle of Newton´s life and

a) it drove Newton to the edge of madness.

b) it drove Newton to the top of his scientific contemporaries

c) it drove Newton to discover the sense of the universal truths

d) it drove Newton to become the first of real scientists

11) The old man crashes his car 

a) Into another car

b) A garden

c) A man 

d) None of the above

 12) The old man says what about his parents

a) His mother was Jewish

b) They’re both Jewish

c) His father was Presbyterian and Jewish 

d) His mother was Presbyterian and his father Jewish. 

13) The old man says he has blood on his forehead

a) From hitting his head in the morning

b) From the car accident 

c) From the windshield

d) From shaving

14) What does the old man want to see in Jerusalem?

a) Jerusalem

b) The wailing wall 

c) Abraham Lincoln

d) His father’s wall

15) What is John doing there?

a) Just walking by

b) He’s backpacking

c) Working on the tree

d) Yelling

16) What did the old man just have fixed? 

a) The car

b) His mobile phone

c) His headlights 

d) The cut on his head

17) Why does the old man ask John to call his wife?

a) To tell her he’s ok.

b) To ask her to come get him.

c) To tell her to call the insurance company

d) To tell her it wasn’t his fault. 

18) John sees a book in the car about 

a) Israel

b) Abraham Lincoln in Israel

c) Traveling to Jerusalem

d) Jewish families in Israel

19) Why does John rub the old man’s shoulders?

a) To calm the old man down

b) The old man asks him to

c) It was John’s idea

d) We don’t know

20) Which statement is the most true?

a) The old man has a crush on John
b) The old man is afraid his wife will be angry

c) The old man wants the ambulance to come

d) The old man isn’t worried about money 

Correct Answers Listening 2014A

1 – B

2 – C

3 – D

4 - B

5- A

6- B

7- A

8- C

9- B

10- A
11 – D

12 – D

13 – A

14 – B

15 – B

16 - C 

17 – D

18 – A 

19 – B

20 – B 

Reading Answers

Answers:

1 C

2 B

3 C

4 B

5 B

6 C

7 A

8 A

9 A

10 D
